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The figures ln the margln lndlcate
full marks for the gue.stlons.

Answer eltller in English or iry Assamese.

ffi qqat q{ffv/u EwloFor

1. Choose the correct answer for the following
questlons : I x5=5

Eqs frrt d{r<f{{ sq Eqttt <IRSR€<I:

(a) What was the basis ff the second
generation comPuters

fr6s cqrdmt{.
qRq t

q{F ft

0 Vacuum tube

cE-{<ln fiE<

Contd.



(u)

(tu)

Transistor

G{e&.
Integrated circuit

t$c@Drffi
(iu) VLSIC

&, qq, qq W lB

(b) What is the functioh used to add the
ra.nge from cell A1 tq Al0 in MS e"""f a

MS ExcelE cW At< i"Rt Atg?E CSE qh
6p1 ffiafu ft +.riur.i.q" Gil qs r
(t) = ADD (At , A1O)

(tr) = ADD (At : A10)

(iii) = SUM (A1 , AllO)

(iu) = SUM (A1 : Atr))
(c) The operating system that managesmore than one CpU is called

%Tl*or**Km(EcB'{s
(r) Multiprocessing cperating system

rfffiEr@effirr frgo
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(i4 Multitasking operating system

ltftbtR( qqnnfrc tr(tn

/iiil Multiuser oPerating system

c|@qr{ s"ttr<R FcEr

/iu/ Multithreading operating system

ltfficarct qqtc<Fi FcEr

(d) The program that is used to view a

webpage is known al 

-.

I

6<?rcalq qil Effiq <i-st< <t{ ddf{[BFF

6<FII q{ |

(r) Search web

ut6 ca<

(iil Search engine

E,|6Ted

(iiil Web browser

c< {trqq
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/iul HTTP

(e) The computer network which is
confined within a sma.ll geographical

area is known as _.
qA r+ ffirtfr-s qsFqrg qr{h rffitn
ffi cDtr- 6<rEr qrl

(t) LAN

cE1 '

@ MAN

cq

fut WAN

c1

/iu/ Internet

tM
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2. State whether the following sentences are

true or false : 1x5=5

sqE fi$ <rcF{S s5 14 qs6 vmq qt c

(a) 'High Level Languages' are machine

dePendent language.

tft cEcga oqgrnql{{ qs Fffiq' e|.{l t

@ ISO-OSI model has seven laYers'

ISO-OSI qfr {Ea q{1 efics I

(c) ROM is also referred as volatile
memory.

<T$ qER d{t the c<'r$ q{l

(d) ClipArt pictures can not be inserted in

a slide of MS PowerPoint'

MS PowerPoint< dRcs CliPArt< ft{{q
q$s +R< clffit

(e) A hub is a common connection point

for devices in a network'

T{ {d ffi qbt< qtRstc{s Etr€rt
c'(sn fr{l
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@ 
#T"*rlfrences between compirer

s-'fRfl< qr+ itrfRsm qlvs cnefq.6*,

yj:rt,,',",communication channer ?

"-"','1,1,L,"1,,,..",i :i, ff.:J, 
- 

"ii' 
*, 
*,

rvfl[ltrf llqqfr z ftrerrmfivr D$s *#"fifl rFrclr'ilcvn lrqq<

IUentinh l:.-.- ,

i,1T.1.1,..:tf."i:";.,H::Jj"o,*,tt
"o*p*i."' 

ure Dasic 
"o.oon.ni" oiT

ffiffiffi,ffid#

s. h)

'*-$iil,:"",i:1ffi=i#yi:il:#il;

$$H*J"ffi,ffiffi
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6. (a) What is network toPololry ? BrieflY

;i;;;"; auout difiererrt network
;;;tt"". Name the laYers of the oSI

model. 1+6+3=10

ffb"h'&ft rFtra fft"hG'qq
utt* trtron $?ttl osl qfrq s<"rq<

dlT{{{vm{ fill
otlal&t

BrieflY discuss the- role

Technologl in Bankrng
sectors.

(b)
of Information
and Insurance

10

c<€\ qFFfict qss sqi d{h YtrslD{-$
qfcqtb-{l F{l l

7 . (a) What is Word Processing ? Mention the

"t"P" '"qitJi 
lo "ttttt ''f!P"t:-I?

Word' How do you perfornr the follolnnB

in Ms worJ i 2+2+6=10

{6 d[6R' fr ? MS words F{d q?F ?srF

$Rdf, s1Tlqft{ qftc{{ g-Ftt <tr MS

worde sds fi{Iq{q *66: a-"nq{ sFKl t

0 Insert a new row in a table'

Fgn ouv cFt N4 'ffi w@ cf t
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(it) Delete a co1

,}tq.finT rr'*t 
from a tabre.

(io Merge-. ..::"-:,T 
*'

dtq erhg tcl cqq E iftrttgtl
or/+tit

(b) Idention the main feExprain ,n. ;;.::":i..: orMS Excer.
runctions * 

"il;"Jl 
the rolowing

ffi-'iffi,smy;;*
(z) 

^uu*o""" 

rrxcels 
v-oq< vr.rr wi

(u) COUNTTF,

ftrl ttAX

8' 
J;;;1"" notes on q,ns tuo

g-qs.Ail 
fr arrat t

(a) ,,"- ;;:3* dm av,
oe**ffi*u*
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(b) E-mail

t-RE

(c) File system

sRq 8d{

(d) Machine language.

ccfr 6Eie({qr

I
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